Multiply and Divide by Powers of Ten (I)

Find each product or quotient.

21+10% = 69 + 10° =
42 -1073 = 44 ~ 10 =
31x10°= 36 — 10° =
54 +10° = 35 %x 103 =
89 +-1071= 60 X 1071 =
56 + 103 = 18 x 10° =
96 ~ 10! = 22 x 103 =
35+10"3%= 73 = 102 =
79 ~1071 = 6=103 =
9x 102 = 92 + 1073 =
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Multiply and Divide by Powers of Ten (I) Answers

21 +10°=0.021

42 +1073=42,000

31 x10°=31

54 +10° =54

89 +~ 1071 =890

56 + 10° = 0.056

96 =~ 10 =9.6

35+ 107° = 35,000

79 + 1071 =790

9 x 102 =900

Find each product or quotient.

69 + 10° =69

44 +~10'=44

36 +10° =36

35 x 10° = 35,000

60x101=6

18 x 10° =18

22 x 10%* = 22,000

73 +10*=0.73

6+ 1073 =6,000

92 + 1073 =92,000

Math-Drills.Com




